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ENGLISH VERSION

Instructions : (1) Write right answer of MCQ given below.

(2) Figures of right side indicate marks of

questions.
1 Write right answer of M.C.Q. given below. 20
(1) What is the meaning of Rainbow revolution ?
(A) Green revolution
(B) White revolution
(C) Nili revolution
(D) All above revolution
(2) Which of following reform is known as general reform in
agriculture sector ?
(A) Protection of crop
(B) Collection of land pieces.
(C) Modernize the selling of agri. products
(D) Reduce the population burden on agriculture.
(3) Revolution which increase the production in agriculture is
called
(A) Rainbow revolution
(B) White revolution
(C) Nili revolution
(D) Green revolution
(4) When the green revolution was started in India ?
(A) 1958-59
B) 1973-74
(C) 1966-67
D) 1969-70
(5) How much production was foodgrains in India in 2008-09 ?
(A) 2086 lac tons
B) 2173 lac tons
(C) 2368 lac tons
(D) 2308 lac tons
(6) How many units are considered in economic reforms ?

A) Two

(B) Three
(C) Four
(D) Five
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(7)  Which countries are taking objection in the matter of labour
transfer liberty in globalization ?

(A) Developing countries
(B) Less developed countries
(C) Developed countries
(D) Semi-developed countries
(8) To selling public sector to private sector means
(A) Liberalization
(B) Globalization
(C) Privatization
(D) Daisinvestment
(9) The process of exchange is taken the part of
(A) Liberalization
(B) Globalization
(C) Privatization
(D) Nationalization
(10) What was the amount of Indian imports in 2007-08 ?
(A) Rs. 9,32,330 crores
(B) Rs. 9,64,850 crores
(C) Rs. 8,40,506 crores
(D) Rs. 8,55,823 crores

(11) How much limit of capital was decided for small scale
industries in 2006 ?

(A) 4 crore
(B) 5 crore
(C) 3 crore
(D) 2 crore

(12) How much limit of capital was decided for tiny (very small)
industries in 2006 ?

(A) 30 lacs
B) 25 lacs
(C) 22 lacs
(D) 18 lacs

(13) Which industries are more important for our economy ?
(A) Small scale and home industries
(B) Big scale industries
(C) Consumer industries
(D) Service sector industries
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(14) How many units were small scale industries in India in 2007-
08 ?
A 1,33,67,000
B) 1,15,65,000
(C) 1,44,51,000
D) 1,25,35,000

(15) In medium scale industries which factor is special responsible
for productivity ?

(A) Skill of entrepreneur
(B) The process of raw materials
(C) Availability of manpower
(D) Availability of power supply
(16) What was time period was for 11th plan ?
(A)  1/04/07 to 31/3/12
B) 1/04/06 to 31/3/11
(C) 1/04/08 to 31/3/13
D) 1/04/09 to 31/3/14

(17) How many unemployed people were in India at the end of
10th plan ?

(A) 367 lacs
(B) 376 lacs
(©) 299 lacs
(D) 423 lacs

(18) Which following factor is not introduced as a certain factor
of green revolution ?

(A) Irrigation facility
(B) Traditional production system
(C) Use of Fertilizer
(D) Modern agriculture tools
(19) How 1s the 11th plan according to its targets ?
(A) Ambitious
(B) Realistic
(C) High ambitious
(D) Most probably in target achieving
(20) Which is the negative side of 11th plan ?
(A) It is over ambitious plan
B) It is difficult to achieve 9% growth rate
(C) It is difficult to get sufficient finance target
(D) Above all matters
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Describe the achievements of green revolution in India.
OR

Discuss the factors of green revolution in India.

Describe the effects of green revolution on Indian economy.

OR

What is liberalization ? Discuss the implementation of
liberalization in India.

Discuss the limitations of green revolution in India.
OR

Discuss the limitations of economic reforms in India.

Explain the importance of small scale industries in India.

OR
Explain the limitations of 11th plan.

Write short note : (any one)
(@) Main problems of small scale industries

(b) Achievements of 11th plan

(©0 Achievements of economic reforms.
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